Exercise solved in the 2" half of 2"Y May lecture (on next page)

Unfortunately it is in the shape of notes for myself (in Italian and very spare shape)
Relevant information (in Italian in the text)

The surface of the inclined plane is smooth
There is friction on the constraint fixing the disc (this as explained in the theory book is just
a torque of friction)
Mat: is the friction torque (it should be t«in english)
“noti” means “known quantities”
The quantities to compute are
1) the initial angular acceleration of the cylinder
2) the speed of m; after it went down by a distance d
In the solution W is the work done by friction
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